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The test consists of 6 questions and 4 pages , Please answer all of them .
(12 Points)

Q 1: Read the following passage then answer the questions :

The impressive dance programme included more than 150 performers
from 15 different countries performing traditional dances from around the
world. The DVD gives a flavour of all of these. For me, the highlight of the
dance events was the ballet performance which ended the festival and the
whole of the final act is included on the disc.

Festival organiser Tasha Simms said, The college is lucky to have some very
talented dancers among the students and Eva Zemanova, who comes from
the Czech Republic, was able to put us in touch with a professional dance
company from her country. We were delighted that they came and very
pleased for Eva that she had the opportunity to stand in for an injured
ballerina and dance with the company on the last night of the festival. Now
she’s on the DVD, too!’

A — How many dancers were involved in the traditional dances ? (2 PTS)

B — Who is the festival organiser ? (2 PTS)




C - What is the role of Eva Zemanova in the festival ? (2 PTS)

D- Why the college festival organiser was glad of Eva Zemanova ? (2 PTS)

E -Find a word in the passage which means " an idea of something " (2 PTS)

F - What does the underline phrase verb "stand in " with mean ? (2 PTS)
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Q 2 : Change the following sentences by using the inversion : (8 points)

A —The boy ran away . (2 PTS)

B — Out of the stadium streamed the crowd . (2 PTS)

C — Miss Rawan walked in . (2 PTS)

D — The lights went out . (2 PTS)
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Q 3 : choose the correct answer . (14 points)

A — " Strong approval or admiration™ means : (2 PTS)

1 — praise 2 — Inspiration 3 — highlight 4 — artefact

B — The correct punctuation mark in this sentence " That's another first " is :
1-? 2-1 3-. 4-,
C — The missing apostrophe of the word " couldnt " : (2 PTS)

1 - coul'dnt 2 — couldn't 3 — could'nt

D — The contraction of this pair of word " | have " : (2 PTS)

1-1'have 2- | have 3-I've 4- IV'e

E — " Feel with the hand and fingers ", the correct phrase is ": (2 PTS)

1 —in touch with 2- got in touch
3 —touch 4 — touched by

F — Away -- the bird , free at last . (2 PTS)
1-flew 2 —fell 3-rode 4 —walked

G - Use do . does or did to complete the sentence : " my brother likes sport
more than | (2 PTS)

1 - does 2—-do 3-did
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Q 4 : Rewrite the following sentence adding the missing apostrophes . There
are two in this sentence . (2 Points)

Id like to have heard Anthonys reading .

Q 5 : Change this sentence by using do , does or did to emphasise the verb :

(2 Points)

The governors make harsh decisions sometimes .

Q 6 : Contradict this sentence . Use do, does or did . (2 Points)

Eva didn't take part in the ballet .
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